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D02 ETH_RD%%—GP\UU[U] SSP1_MSO/ENET_RXD1/SGPID0/2S0_TX_WS/2STTX_WS MK_ES%GPIUL[U] USBO_PWR_FAULT /MCI2/SGPIO8/TO_MATO MK_P14 mi GPIO7[0]/EMC_AT8/CANTTD
33v <-2Voom. T ETH_TXEN€=5{GPI001/SSP1 MOSI/ENET_COL/SGPIO1/ENET_TX_EN/2S1.TX_SDA MK_HS €—2{GPIOL(1/USBO_IND1/MCI1/ SGPI09/ T0_MAT1 ARM Cortex-M&4 MK N1 €—HGPI0711/EMC_AT9/CAN1RD ARM Cortex-M&4
2 IE] ) 33v <EZvooo22 ETH_RDOS—HGPI002]/U2_TXD/SGPIO2/ENET_RXDO/TO_MAT1 J3{GPI0[21/USBO_NDO/MCIO/SGPIOT0/ T0_MAT2 MK_M €—{GPIDT[2]/ ADCTRIGO/ CANO_RD /EMC_A20
SORAM A0S—2HAD |SDRAM|DO [—SORAM D0 33y 2 FTlyppig 3 ARM Cortex-Mk ETH_(R 7]GPI00[3]/U2_RXD/SGPIO3/ENET_CRS/T0_MATO/ENET_RX_DV LCD_G4€—33{GPI0[3]/USBT ULPLD2/LCD_VD12/LCD_VD19/T0_MAT3 K3[0PI07I31/CANO_TD/ ADCTRIG/ EMC_A21
SORAMLATS—EAT |5y (D1 [E—SORAM DT 33y 2 F8lunnip, SDRAM_AS &7A{GPI00[L]/CTIN_3/EMC_AS/SSPO_SSEL/SGPIOT LCD_R7<€—4{GPI0&[4]/USB1_ULPLD1/LCD_VD7/LCD_VD 16/ T0O_CAPO MK_K13€—={GPIOTI4]/NMI/EMC_A22
SORAM_A2 2 D2 [P—>SORAMD2 33y S60)yongTs MK_L1 €—EHGPIDOIS]/EMC_BLS1/SGPIDS/USBO_PWR_FAULT/T2_CAP3 LCD_R6<€—5{GPI04IS] /USB1ULPLDO/LED_VD6/LCD_VD8/T0_CAP1 MK N6 €= GPIOTIS]/CTOUT_3/UTRTS /EMC_D24
SDRAM_A 3 03 [ SORAMD3 33, 2Hlnngg MK_B13 €~ HGPI00(6]/SPLMISO/SSPO_SSEL/SPIF MS0/SSPO_MISO LCD_RS GPI0&[6]/USBTULPINXT/LCD_VDS5/LCD_LP/T0_CAP2 MK M16 €<= 2{GPI07(61/CTOUT 2/U1RI/EMC_D25
SDRAM_A% 4 D4 [==—2>SORAM_D4 33y & J8lyppnin™7 SORAM_ R5{CPI00I7)/CTOUT_1/U3 UCLK /EMC_A9/T3 MAT3 ARM Cortex-Mé& LCD_R4 <2 GPIOI71/USBLULPLSTP/LCD_VD4/LCD_PWR/TO_CAP3 MK_F15 €2 {GPI07[71/CTOUT_5/U1LCTS /EMC_D26
SORAM_A5 &—30{a5 05 H—S SORAM DS 33v <2Zvooo_s snRAM_Ase@GP\DU 8]/CTOUT_7/EMC_A6/SGPID8/SSPO_MISO MK_J1L%GPIUL 8]/QELIDX/U2_TXD MK_F1b €—GPIOT 8]/CTOUT_4/U1LDSR/EMC_D27
SORAM A6 €—2-A6 D6 %SDRAM_DE 33v <XZvoon 9 SDRAM_A7<~5Z{GPI00IS]/CTOUT_6/EMC_AT/SGPI09/SSPO_MOSI MK_K 15 €—7GPI0. (9]/QELPHB /U2_RXD MK_E16 €—F-{GPI07I91/CTIN_4 /U1 DCD/EMC_D28
SDRAM,A7@3§—A7 07 Ju%SDRAM,m 33v <vooio o MK_P5€—2{GPI00[10]/CTOUT_8/SGPI010/EMC_DE/USBO_IND1/SSP1MISO/SD_RST [77[GPI04[10]/QELPHA MK_E1h €—5GPIDT(10]/CTIN_3/UT DTR/EMC D29
SORAM AB<—7A8 D8 [ SORAM D8 33, 2LI0fyppgy MK_T3€—52{GP 1001 11 /CTOUT_9/SGPI01/EMC_BLS0/USBO_NDO/SSP1.MOSI/SD_VOLT1 ETH_RESET €—={GPIOL(11]/MCOB1/USB1PWR_FAULT /ENET_COL/SGPID8/U0_RXD MK_D 6 €—r{GPIOT[11)/CTOUT_12/U1 TXD/EMC_D30
SDRAM_A9 9 09 [ SORAM D9 33, 2 NTlyppigy, ETH_MD\UWGP\DD1z]/uz,utLK/ENET,MmD T0_CAP3/CAN1_TD/SGPIOT/ MK_T 1€—77{GPI04 12]/MCABORT /ENET_CRS /SGPIO0/SSPO_SSEL MK_D15 &—={GPI07[121/CTOUT /U1 RX0/EMC_D31
SORAM_A a0 D10 2= SORAM D0 33y ZNBlynpig s ETH_TDO€£{GPI00(B]/U2_DIR/ENET_TXD0/T0_MAT3/CAN1RD/SGPIO2 \g[GPI0I1B1/MCOA2/12S0_TX_WS /ENET_RX_ER /SGPIO1/ SSPO_MSO MK_Gik €—E2GPIOTIB]/CTOUT 1 /1201 SDA/EMC_DOMOUT3
SORAM_ Al €—22-ATt D1t =2 SORAM DT 33y & B3lisag Voo A3v3 DRIVER SORAM_A1€Ee{GPI00111/CTOUT 2/U2_TXD/EMC_AT MK_N8€—FHGPI0G[14]/MCOB2/2S0_TX_SDA/ENET_RXD3/SGPI02/SSPO_MOSI MK_C15 € 2AGPI0T(14]/EMC_DYCS 3/
SDRAM A2 €—2-{AT D12 [ SORAM D12 33y 2 B3 3a0 vopa3v3~ ETH_TD1€GPI00I 5]/ SSP1_SSEL/ENET_TXD1/T0_CAP2/SGPIOT3 MK Mo &—H2{GPIOG(15]/MCOAD/USBTND1/ENET_RXD2/SGPI09/U3_TXD MK_Ef3 €—¢2{GPIOT(1S]/CTOUT_0/12C1 SCL/EMC_CKEOUT3
SDRAM BAD€—2{BA DB 21— SORAMDB 33, S BAlynn." SDRAM D0€—2GPI010)/U1 DSR/CTOUT_13/EMC_DO/USBO_PPWR SORAM BAOS{GPIOS(0]/SGPIL /U0_TXD/EMC_AT3/USBO_PPWR /T3 CAPD/ENET_MDC MK_EN €—57GPI0TI161/SSPO_SSEL/SGP 100
SDRAM_BAT BA1 0% 21> SORAM D14 33v <F2vooRec_1 SORAM_D1€—{GPI0111/U1DTR/CTOUT_12/EMC_D1/SD_VOLTO SORAM_AT2 €p2{GPI0S|1/SGPI0S/U0_RXD/EMC_A12/USBO_PWR_FAULT /T3 CAP1 MK_D11<€—¢5{GPIOT[17)/U3_TXD/SSPO_MSO/SGPID1
SDRAM_DOL €—2-oML loss 35 SoRAM DTS 33y Z-2lVooReG 2 SDRAM D2€—2{GPI01121/ULRTS /CTOUT_11/EMC_D2/SD_DATO SDRAM_AT € 21GPI0S(2]/SGPID6/U0_UCLK/EMC_ATI/USBO_IND1/CTIN_6/T3_CAP2 MK_E10 €—5{GPI07(18]/U3_RXD/SSP0_MDSI/SGPIO2
SORAM_DQH oMH Ve L Ve 181VnoReG 3 SORAM_D3€—5 GPI01(3]/U1RI/CTOUT_14/EMC_D3/SD_DAT1 cfaPiost 3]/SGPI012/12C1_SDA/U3_TXD/CTIN_1/T3_MATO/USBO_PPWR MK _E £ GPI07(19]/U3_UCLK/SSP1_SSEL/TRACEDAT Al0] /SGPIO4 / ADC1_4
SDRAM_RA RAS Ve & 33v <Lvoorec 4 SORAM Db€—r GPI01[4]/U1.CTS /CTOUT_15/EMC_D& /SD_DAT2 GPI0S[4]/SGPIOT/1201_SCL/U3_RXD/CTIN_0/T3_MAT1/USBO_PWR_FAULT MK_E7 €—5{GPI07] 0]/U3_DIR/SSP1.MSO/ TRACED(1/SGPIOS/12S1.TX_SDA/ ADC13
SDRAM_CA! CAS' Vee 2L 33v <8l SORAM_DS5<35 GPI015]/U1.DC0/EMC_D5/TO_CAP1/SGPIO8/SD_DAT3 MK_K 1 GPIOS[S]/SGPI014 /CTIN_2/USB1.VBUS /ADCTRIG1/ T3_MAT2/USBO_INDO MK_B GPI07[21/U3_BAUD/SSP1MOSI/ TRACEDI2]/SGPID6/12S1_TX_WS /ADCL7
SDRAM_WE: WE' Veq SORAM_D6€—4m GPI01(6]/U1.TXD/EMC_D6/TO_CAPO/ SGPIOY/SD_CD 6]/SGPI07/U0_DIR/EMC_A10/USBO_INDO/CTIN_7/T3_CAP3 5¢lcPI07 ] /U0_UCLK /CTIN_2/ TRACED(3]/SGPI07/ADC0_2
SORAM.C s Veg 2 anoe=8vss 1 SDRAM_D7<~1e{GPIO1 7]/ULRXD/EMC_D7/TO_MAT2/SGPIO10 71/SGPI015/CTOUT_0/U3_0R/EMC_A8 MK,DG%‘EP\W 23]/U0_DIR/CTOUT_1/SGPIO3/ADC12
SDRAM_CKE: ke Vgl onoeHLvss 2 MK_RS&— GPIO18]/CTOUT_10/EMC_CSO/USBO_P_F/SSP1.SSEL/SGPIOT5/SO_POW 8]/12S0_TX_WS/I2S0_RX_WS /CANO_RD/USB1_IND1/LCD_VD15 MK_AB%EP\W 24]/U0_TXD/SD_WP/ADC0_S
SDRAM_CLK €—281rik | veq |90 > 33y ono<2lvssTs SORAM_WE<H GPI01(S]/CTIN_5/EMC_WE/SGPIO14/SD_CMD 9]/1250_TX_SDA/12S0_RX_SDA/CANO_TD/USB1INDO/LCD_VD 14 MK_A2 €—=4GPI07(25] /U0_RXD/SD_VOLT2/ADCLS
Grd F222-SGND oNo2vs st SORAM_ GPIO'110]/CTOUT_3/U3_BAUD/EMC_AD 10)/SPLLMOSI/ SSPO_MISO/SPIFLMOSI/SSPO_MOSI it
Gn |21 oNo<KElvssTs SORAM_A GPI0111/CTOUT_5/U2_RXD/EMC_A2 1l /SPLSSEL/SSPO_MOSI/SPIFLCS/SSPO_SSEL ETH_SO0M<Fr5{ENET_TX_CLK/SSP1SCK/CLKOUT/2S0_RX_MCLK/2S1.TX_SCK
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e ono<H8lvssine L[D_RU%GP\02[11/tmuT,w/L[n,vnn/Ltn,vuwg/uajxu/ENET,toL/ADth 17]/MCOBO/USB1INDO/ENET_TXD2/SGPIO4 /U3_RXD D—leswx,MtLK/[Gu,uum
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oNDe-LLVsSI0 13 SDRAM_DOL €5 8]/CTOUT 7/EMC_DAMOUTO 24]/USB1ULPLDS/LCD_VD15/CTIN_S SD_CLK<Rp{EMC_CLK3/CLKOUT/SD_CLK /EMC_CLK23/1250 TX_MCLK/1251.RX_SCK
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D L[D_BZ%GP\UB10]/[TINJ./I2SU,TX,SDA LCD_VD18/LCD_VD6/U2_RXD/SGPIOG6 MK_P1€—-{GPI06I 5]/ EMC_CKEOUT2/SD_POW/SGPIOS ADC2€—5 DC0_2/ADC12
SW1 14 C16 L[D_B‘\%GP\UB11]/[TIN,B/L[D,VDW/LED,VDS MK_R1€—5 GPIO6[16]/CTOUT_7/EMC_D16/SGPI06 ADC_. 3 DC0_3/ADC1_3
GND: RESET L[u,auwumus121/ETUUT_B/LED_VD16/Ltu_vuz,/TRA[EDATA[u]/AD[U_L MK_P T GPI06(17)/CTOUT_6/EMC_D17/SGPIOT =2ADCO_4 /ADC1LL
RS 22p| 22p LED_GO<—7{GPI03[13]/CTOUT_12/LCD_VD8/LCD_VD23/ TRACEDAT Al /ADCO_3 MK_T F¢|CPI06[181/CTOUT_8/EMC D18 /SGPID8 A5]ADCO_S/ADC1S
11k LCD_HS<€—=+{GPI03{14]/CTOUT_11/LCO_LP/ TRACEDATA[2] MK_P =¢]GPIOEL191/CTOUT_9/EMC_D19/SGPIDY ADC_5€—=2/ADC0_6/ADC1_6
33 L] GND  GND MK_B6<—D22{GPI03(15]/CTOUT 8/LC0 PWR/TRACEDAT AL3/ENET_MDC/SGPI7/ADC1 6 MK R6€—= 2{GPI06120)/CTOUT 10/EMC_D20/SGPI010 Glanco_7/A0C17
LPCLISTFET256 MK_T 6 &—55{GPI06[211/CTIN_S/EMC_D21/SGPI01T! 09
001 737]GPI06L221/CTIN_6/EMC_D22/SGPIOR2 RESET<€—{RESET
MK_B7€—{s| | Data SD%MK_U MK_T11<—57GPID(23]/CTOUT_B/EMC_D23/SGPID3 33V €—H{DBGEN
MK_D10 SCK| flash |Gnd—>GND MK_Pil€—rg GPI06[24]/CTIN_1/EMC_BLS3/ J,T[KWT[K/SWD[LK
RESET €qRes v::-@—)nv MK_N9 &—7{GPI06(25]/EMC_CS3/USB1.ULPLDO/CTOUT 14 J_TRST&—ATRST
MK_E9 €4 (S WP$2>33V 74]GPI061261/EMC TS2/CTOUT_10 LTMSS—2{TMS/SWDI0
T MK_T 1 €—=1GPI06] 271/CTIN_0/EMC_BLS2/CTOUT_13 L1002 TD0/SWO
MK_R13€—{GPI06[28]/EMC_DYCS2/CTOUT 11 1_TDR—=TDI
MK_T 15 €—GPI06[291/EMC_ATT/SD_WP/CTOUT 8 At
MK_R1 GPID6[30]/EMC_A16/SD_VOLT2/CTOUT 12 RTCALARM €—gIRTC ALARM
LPCL3STFET256 =RTC_SAMPLE
LPC435TFET256
LED2 Tk GND 33V
NP v VBAT 7
ETH_MDIO 33v =T Nome
D04 *|Bat1 |3 {2
1 23 X3 DA3 2 |RD
ETH_TD0&{TX00 PHY RXP 1
ETEJH{;&@& TXD1 0/100M RXN ~ | uSD holder MK,DEeﬂTgm Rs232 310
X TXEN TXP M — & |oTR
£TH_R00<S1RXD0/MODED XN SD_D0&— 7 | DATAO Mk 05<Hri0 | =Tow
ETH_RO1&-RXD1/MODE! % 1k SD_0—{ 8 | DATA1 ~[R2 | R2IN} L Tosr
22p]|Z03 . ETH-CRSSIIRS DV/MODE2 RBIAS |2 Body oA s0_D2&—{1_| DATAZ G v B T
UND%%”—J_—JETHJXER’GSLRXER/PHYADU INT /REFCLKO }‘%ETHJUM CAN_TDE—YTxD JCAN SD_D3¢—{2 | (0/0ATA3 g_m:r% - V- 33v s I RS
] A Qﬁg/“‘" "“STJ')ETBH}VRESET o Lk tAN_RD€—2{rxp | PHY SD_CMD€— 3 | MD L[ 5| 2 \lﬁrs (36C35T01u e
VDDIO L Nec | SD_CLK€— T
m«u&EH—T— LED1<—3{LEDY/REGOFF vODiA (2 029 390 o vee oe7 e e 0.7 T CKIN CKIN IR
3311 25 LED2 €=~LED2/nINTSEL VDD2A GND: L2.K e 0 T
T noc<Blnc VOD(R j—' GND - 0.1g ng;vne 1“ %SJ‘E'E‘”
ETH_MDI0 €4 Mpio ) PGNDJ2> GND 7 GND: o <— AR
DNP DA1
33v
C12_JC15_|C18 [C24 [C8 _[C37 |C25 |C20 €21 €32 |C13 |C5
D 0.1u ]0.1u |0.1u ]0.1u {0.1u {0.1u J0.1u |0.1u J0.1u |0.1u [0.1u |0.1u HL1 22
o —— S e N SK-LPC4357 | |
il P73 G PEN 7 N P 390 www starterkit.ru T

S8 301 3. 0 D -

V1A




X6

UsB "A" >

Sy 1 eV

~

Data "-"

—>USB1M

w

> ussLp

Data "+"

IS

Gnd —>GND

w

Body field [—>Body

X5

UsB "B >

~

Data "-"

w

Data "+"

-

RN
Gind USBO_VBUS

w

Body field [—>Body

17
R21
= 11k 33V
GNi USBO_ID

J,TRST&‘R:M'%BBV
ume%%sav
J,TMS&‘%’%BBV
Utkeﬁ%wn

9
33v < URer VTARGET
URST6|3 NTRST Gnd_TH—>GND
1T 101 Gnd_2 [5—>GND
J_TMs&HTms Gnd_3|5—>GND
LTk AT Gnd_4H2->GND
1 7
—HRTCK Gng_5[~—>GND
J_T00€ 700 Gnd_6 > GND
RESET€B{RsT Gnd_7 2> GND
17 DBGRQ Gnd 3%&%0
DBGACK Gnd 9> GND

—ﬁ';'—an

13

RIT 15 1.5k

GND 33v

SDRAM_A6
I
R18 1T Rk 15K

GND 33v

SDRAM_A7

5
R 1 (Rl sic

GND 33v

SDRAM_A8
J6

R20 15 1.5k

GND 33v

SORAM_AO

A
GND< H>sv
L0_Re<=3] F>33v
MK_T1€=2{ Ts 05 K> (co_r7
L0_B3<Y 1> 1co_s2
L0_Bo <] HeS (co_87
Leo_Be<] HZ> (co_ss
L0_Ge<L He> (co_67
LeD_G4b €S He> (co_as
Lo_63< 8> (co_62
Leo_R1<] 12> (co_ro
Loo_1<2] 122> (co_co
Leo_B1<Z] 12> 1co_so
MK_B6<2] 12> GNo
Lo_vs <2 185 Lco_nouk
Leo_Hs <2 125> Lco_oe
Lo_Rs &Y 2> Lco_Re
Lo_R3&E] 24> Lco_r2
MK_C11 <22 75 DN 128> M _os
MK_E5 <2 TS -PENRG|LCD-SHUT 22> MK_FS
MK_83<2 T5-pouT] Ts-ak FE> MBI
8
GNDe; %SV
MK_N9&—= F—>33v
MK_N8 €= > Mk _Ms
MK_A3<—L| GSMRX | GSMTX [o->MK_A2
MK It €= GPS_RX | GPS_TX_HI>MK K15
MK_Mi6 <L GSM_PWR| GPS_PWR HE> MK_L1k
MK_K 1 €2 HAS Mc_N16
MK_R15 €] HE> Mk _L13
Mk _T1 <] HBS Mk_T15
MK_R1BEY 1205 MK_R14
MK_M1 €24 1225 M_P15
MK_P1s €2 1245 MK_N14
MK_T3€2] 265 M_p1t
MK_Re<€Z] 285 M_P6
MK_R5 <2 F%S Mc_T6
MK P13l 5 Mk _ps
MK_T2&2 35 MK_N4
MK_R1< 15> Mk_Le
MK _N2 &L %MK,M
MK_N1€] A8 Mk_m1
X1
GNDE H>sv
ADC0€ > 33v
ADC_1€] > anc_2
ADC3< Y 18> Anc s
MK_Hs €] HOS Mk_Fo
MK_Ds <] HZ> Mk_cto
MK _C1 <Z 4> Mk _ott
MK_E10 <2 HES Mk _ent
Mk _ats <] 8> Mk_s1t6
MK_C1s <2 285 MK_Eth
MK_Et6 <211 125 Mk_gth
MK_EB <2 255 MK_F1ly
MK_F15 €22 265 MK_K13
i 285 vk_T11
o 305 Mk_T10
RTE_ALARM% 122
EAN_L% %[AN_H
20.Se <4 o> 2c0.50A
B3 % 6No




